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GENERAL INSTRUCTIONS TO THE EXAMINEES :

) crﬂm%ﬁaa‘ywmm-qﬂt:rmaﬁarﬁa:%é |
Candidate must write first his’her Roll No. on the question paper

compulsorily.

2) |t ¥ 7 FE AFERE 2 |

All the questions are compulsory.

3 v e 1 I & IR § A ferd

Write the answer to each question in the given answer-book only.

S-09-Mathematics [Turn Over

(¥ Scanned with OKEN Scanner



.
ki 2

4) 59 w11 4 ATl @ug ¥, 31 mft F 3 @ oy @ ford |

For questions having more than one part, the answers to those parts are to be

written together in continuity.

5) Te-03 3% ) 9 31 wui 3 e SR 1 Jfe/ A/ gm e
YTST & 994 hl &1 98! °9H |

If there is any error/difference/contradiction in Hindi and English versions of

the question paper, the question of Hindi version should be treated valid.

6) ¥ 1 I e ¥ @ I F HEieh Havd g |

Write down the serial number of the question before attempting it.

7) WA HHF 14 Y 20T ¥ RS fhed 2 |

There are internal choices in Question Nos. 14 to 20.

8) 3TN IT-YReTH &+ g3l & Al AN feiay | Afe FE T FA FAT B, dl
FER-gfere & sifan gl W 3 5 fowel ol @ FRH I W T HE
for@ ¢ |
Write on both sides of the pages of your answer-book. If any rough work 1s

to be done, do it on last pages of the answer-book and cross with slant lines

and write ‘Rough Work’ on them.
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SECTION -A
(SEfereredia WeA T A ST W)

(Multiple Choice Questions and Very Short Answer Type Questions)

i o N , ~
@ T gfereedia W (i ¥ xviii) & I H Tl foeg T o IW-YfEasl |
ferfEy |
Choose the correct option to answer the following multiple choice questions
(i to xviii) and write in the answer-book.

) 400 % IISY TOFREUE] FI Gl H AN 2 (1]
HA) 4 g) 9 g) 6 Q) 8
The sum of powers of prime factors of 400 1s
A) 4 B) 9 £) 6 D) &
i) afe 7gue 2x2 + x + k F T YIS 3 8, @ k1 T &M (1]
) -12 g) 21 g) -21 <) 12
If 3 is a zero of the polynomial 2x# + x + k, then the value of k will be
A) -12 B) 21 L) -21 D) 12
iii) T @ ST T THE G xI @R F I yR, A @ TR 1]
) (10x+y) 9) (10y+x) T (x+y) <) 10xy
In a two digit number, the unit digit is x and the tens digit is y, then that
number IS
A) (10x+y) _BY (10y+x) C) (x+y) D) 10xy

iv) af¢ AABC ~ADEF @ W@ AB= 109!, DE=8&ft &, @ BC:EF 2  [1]

A) 8:18 d) 4:5 ) 9:4 Q) 5:4
If AABC ~ ADEF and AB =10 ¢cm, DE = 8 cm. then BC : EF 1s
A) 8:18 B) 4:5 C) 9:4 By 5:4
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V) g 195 0(0. 0) ¥ fag P(-3, 4) Fi gl 2 1]
H) 5 q) V7 q) 7 q) |
Distance of point P(-3. 4) from origin O(0. 0) is
A S B) 7 o D) |

vi) cosec?45° — cot245° S 8 [1]
A 2 9) | g) 0 ?) 22
cosec?45° — cot>45° equals
A) 2 By | C) 0 D) 242

Vi) U IET @ H WSS, T Hl S & 9 8, o g3 F IAGH

 HUR [1]

) 60° g) 30° ) 90° 2) 45°

The shadow of a vertical pillar is same as the height of pillar. then the
angle of elevation of sun is

A) 60° B) 30° C) 90 D~ 45°

viil) T fag P U 99 T o9 T i oars 24 FH a1 PR 5 A
25941 @ | 99 i B 2 N
F) 7%R W) 4¥R @) 359 ANE:L

From a point P, the length of the tangent to a circle 1s 24 cm and the
distance of P from the centre is 25 cm. The radius of the circle 1s

Ay 7c¢m B) 14cm C) 3.5cm D) I¢em

ix) T g e 7 @f R, 39 99 6 TF AqUTT F1 AR 1]
H) 38592 ) 77 GHi- q) 1545w g) 44 7HI-
The area of a quadrant of a circle whose radius 18 7 ¢m is
_A) 385cm® B) 77c¢m? C) 154cm- D) 44 cm-
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x) Ife TH W B 14 3eft e fodes S=rd 10 Aft B, o I T T

7diT BTHA 2 (1]
31) 220 T2 ) 110 9Hi2
g) 440 g}l T) 140 T2

If the radius of a cone is 14 ¢cm and slant height is 10 cm, then the
curved surface area of the cone 1S

A) 220 cm? B) 110 cm?
C) 440 cm? D) 140 cm?

xi) Fr=fafaa & @ SR- g R g it i 7@ & dadt ? (1]

) % ) % ) 0.7 2) 0.5
Which of the following number cannot be the probability of any event ?
A) % By % C) 0.7 D) 0.5
xii) afe 21 ufda gemat ¥ fA HCF = LCM, @ Sward gawn g+t =meg. (1
) Uy ¥) 9HE
) 33IUI q) HEIWTSY
[f HCF = LCM for two rational numbers, then numbers always should be
#4) Composite B) Equal
§Y Prime B) Co-prime
xiii) 3 Tk fRETa WRTE F YRG! 1 A @A PAGS FHA: 5 F 67, @
fgama sge 2 1]
A) x2+5x+6 d) xX2+6x+5
g) x2-6x+5 €) x--5x+6

If the sum and product of the zeros of a quadratic polynomial are 5 and 6
respectively, then the quadratic polynomial is

A) x?+5x+6 B) x246x+5
C) x*—6x+S D) x2-5x+6
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Xiv) k% forg W & fore woftencor qug x +y -4 =0, 2x + ky - 3 = 01 &I

g -1 B 7 1]
A) O q) 2 g) 6 q) 8
For which value of k, linear pair x +y -4 =0, 2x + ky -3 = 0 has no
solution ?
A) O B) 2 C) 6 D) &
D
\ 1]
6 g
3 ot
B C E F

3 gt

feuw v o °§ AB =29, ZA=50°, AC =4 81, DE = 3 9,
/D =50° 3R DF = 6 &t & | af¢ BC =3 3t &1, at EF & 919 8

H) 458H 9 64 g) 8gm g) 5o

4 cm

3cm

In the given figure, AB =2 cm, ZA = 50°, AC = 4 cm, DE = 3 cm,
ZD =50°and DF = 6 cm. [I'BC = 3 ¢m, then the measurement of EF s

Ay 45cm B) 6 cm () 8cm D) 3cm
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xvi) sin2A =2 sinA 7 T Bl 2, TH A TR (1]
37) 0° €) 30° q) 45° 2) 90°
sin2A = 2 sinA is true, when A equals
A) 0° B) 30° C) 45° D) 90°
o _12 . 2 1
XVI11) e cosA—--l—s; %, ! sinA &1 A (1]
13 3 > 13
e e qH) —= st
&) o ) 13 % 3
If cosA = :—i—, then the value of sinA is
13 2 S 13
A 2 B 12 ) 13 D) =
xviii) T T2 $t e A g§ g 5 e § g W rRa i @ [1]
H) 30° ) 60° W) 25 2) 10°
The angle subtended at the centre by the minute hand of a clock In
5 minutes is
A) 30° B) 60° C) 2% D) 10°

/L/ﬁmi%—lﬁawﬁ (i ® vi) o fra wAl 6 9ff F@ ge Iw-giees 1 fatan |
é Fill in the blanks in the following questions (i to vi) and write them in the
answer-book.

i) af2 18,a, I0THR FA 0 @, A a= | 1]
T 18, a, 10 are in arithmetic progression, then a = .
i) famg P(7, -3) 3kt farg Q(3, 9) Fea forg & T gl (1]
523 The co-ordinates of the mid point of point P(7, =3) and point Q(3,9) is
iii) sin60° cosec60° + cos30° sec30° &1 AH g | 1]
g 2

The value of sin60° cosec60° + cos30° sec30° is
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iv)ﬁa‘maﬁrﬁﬁgmuﬁﬁ%ﬁmm@q@aéﬂw "
|

[f the diameter of a solid hemisphere is 14 cm, then its total surface area

1S

"

V) W& 1.4.5.6.4.7,9,2. 4.3, 5 %1 9gTD g | 1)
The mode of the distribution 1.4.5.6,4,7.9,2,4,3.518

vi) Fef ol st & fore ot g 172 ) afe saft ot & 24 2, o f=e
° it 2 1)

The class mark for any class interval is 17. If the upper class limit is 24.
then the lower class limit is

3. fq sgaueTs 999 (i 9 xii) |

Very short answer type questions (i to xi1).

i) afe v g i BT 14 3 R qur 90 ) T 22 99 2, @ 39 =@
9°  ZRT g T AT PV JTa HITWT | 1]

If the radius of a circle is 14 cm and the length of the arc 1s 22 cm. then
find the angle subtended by the arc at the centre.

/m'aﬁwmwwwﬁ@mﬂsmaﬁ@ﬁ%ﬁlm@w*w
v g e T R | 1)

If the total surtace area of a cube is 864 square ¢m, then find the surface
area of one of its faces.

i) fr= ST g7 F A1eE {6 i | 1]
: S (
X 3 > | 7 )
f 6 7 3 (O
Find the median of the Tollowing (requency distribution.
X 3 3 7 9
f 6 7 5 O
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V) Tk q™ ! Th IR %ehd T 5 H T [ M i Wifepar 71a ifow | [1]

¢ Inasingle throw of a die, determine the probability of getting a number

more than 5.
_¥) Th TGN TP IR dod quH e o onm S % | afe v =
St I 66 BF Bt B, Al Se 1 HFGH F1a Hifd | [1]

A right circular cone and a cylinder are of equal radius and equal height.

[f the volume of the cone is 66 cubic cm, then find the volume of the
cylinder.

i) [ 3THeSt &1 qiegss wrg Hif | [1]
19, 17, 25, 27, 18, 20, 29

Find median of the following data.
19, 17, 25,27, 18,20, 29

/v‘u) ﬁf@a@mﬁwmm@ﬁa@aﬁé | 7% ¥ 2 T T g
S i o i %lm%ﬁﬁﬁuﬁmmﬁml (1]

Two players Ram and Shyam play a chess match. It 1s given that

probability of winning the match by Ram is 4 Find the probability of

S
winning the match by Shyam.

ity 2 e, Pt & e B g 236 2, 3 T wo B e o

o 3E G ST A6] 8 | 399 UTSd U9 [ A 31 it | 1]

A solid cuboid is formed by joining the adjacent faces of two cubes,
each of side 2 cm. Find the volume of the resulting cuboid.

(hquﬁnqeaiﬁFnamﬁ“ﬁnnxuﬁfaié@ﬂuﬁiaﬂ=HnFaIIMEa?ﬂﬁidﬁﬁﬁq | 1]

[&

Find the arithmetic mean of the first ten positive odd natural numbers.
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X) T A H 6T 9 T ae 2 & | 7w 4§ @ u iig argesA el T
2 R Frereh e 1 whe €19 i wifasar T HHT

A bag contains 6 red and 7 white balls. From this bag, one ball
randomly. Find the probability that the ball released is white.

1)

is drawn

Hﬁ'@imaéﬁéwaﬁqmmsonaﬁﬁﬁ%,ﬁwaﬁﬁé

P
&1 = 3| Hifa | 1]

If the curved surface area of a solid hemisphere is 50 7 square cm, then
find the radius of that hemisphere.

i) afe 5. 7.9.4. 3. (x + 2) 1 GH=R TG 6 &, « %1 9 3@ difae | [1]
" If the arithmetic mean of 5. 7,9, 4, 3, (x + 2) is 6, then find the value of X.

QU -4
SECTION - B

(ST J9A)
(Short Answer Type Questions)

A7 EE 12, 15 3 21 F A IAES faid g HCF 3 LCM 3 SHitaa | [2]
4,0 Find the HCF and LCM of 12, 15 and 21 using the prime factorisation method.

& afe fyema wgue 3x2 - 5x + 9 % Y o P, A (o + B) T ofFA HA | 2]
% > If o and P are the zeros of the quadratic polynomial 3x2 - 5x + 9. then find
(o + B) and op.

ﬁﬁ@qﬁﬁmﬁmm,ﬁﬂwmwéﬁmﬂmmmﬁﬁm; 2]
% = IX* oy =1

e
Use elimination method to find all possible solutions of the lollow ing pair of
linear equations :
3x + Sy =17
6x +y=-4
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. W= 3R 713,19, ... 205 T 981 F FE 7/ i | 2]
™ Find the number of terms in arithmetic progression 7, 13, 19, ... .. 205.

12]
In the given figure, DE || BC, then find the value of x.
s fagadt (5, 3) 3R (-3, -2) #l fie a1en W@r@Evs x-HE R 6y U A
| 3'*1_ e &far 2@ ? 3-L 12]
In which ratio, x-axis divides the line segment which joins points (5. 3) and
(-3,-2)7?
10. 4cot245° — sec?60° + sin’60° 1 WM Td HfT | 12)

Find the value of 4cot?45° — sec?60° + sin=60°.
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yzlzﬁam@m@,wamﬁmméﬁmﬁq@?ﬁ% | e 7% Hiel )
AaT ¥ WU 60° F B w46 2, A ar B HaE A HC

i i kes
A 12 meter long ladder touches the top of a vertical wall. If this ladder ma
an angle of 60° with the wall, then find height of the wall.

R

/m D O 2]

A P B

e g % TRITA Th Sqys ABCD ®ien w1 # | g Hifsie & AB + CD=AD + BC |
R

D - C
S Q
A P B

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that
AB + CD=AD + BC.

13, g9 % 99 g0 I & b T AR B 50° R | fE =9 hi @ SpE A,
e d1 38 99 i e g hifs | 12]

The angle subtended at the centre by an arc of a circle is 50°. If the length of
the arc is Stcm, then find the radius of that cirele.
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SECTION -C

(Sred-3Fv W)
(Long Answer Type Questions)

14 TR AR F S 15981 &1 dnmhet T hiferg, et n 3 9E a '3+2n3! 3]

*  Find the sum of first 15 terms of arithmetic progression, whose n term is
a =3+2n.

319a/OR

o TR A & 60 U ¥ If we yuw vg ayT Jifan g FAW: 79U 125 8,

a 3T 32 91 9g F1q I | 3]

There are 60 terms in an arithmetic progression. If its first and last terms are
7 and 125 respectively, then find 1ts 3274 term.

187 fagat (4, 0) 31K (0, ~8) % ey a9 YmEE F 4w i frwifr w3
3,-¢ T famgant & e Fd Hiiv | 3]

Find the co-ordinates of points which divide the line segment joining points
(4, 0) and (0, —8) into 4 equal parts. https://www.rajasthanboard.com

31241/ OR

fg A% fidars 91a HIfve, s&1 AB U g0 &1 = 2, Fre &5 (2,-3) @
U B fewis (1,4)2 | 3]

Find the co-ordinates of a point A, where AB is a diameter of a circle whose
centre is (2, -3) and co-ordinates of B 1s (1, 4).

/ﬁzﬁﬁqﬁﬂaﬁiﬂﬁsﬁﬁﬁa@qﬂﬁﬁﬁmiﬁtﬁiiﬁaﬁwﬁﬁ?ﬁ% vl
fag w Tmfgenfora 2l B | 13]

Prove that in two concentric circles, the chord of the larger circle, which touches
the smaller circle, is bisected at the point of contact.

FUar/OR
firg Sifse fo wm@ fog @ 99 W G 18 ol W@natl i ol sum ad 2 1 (3]
Prove that the lengths of tangents drawn from an external point to a circle are equal.

S-ﬂq'Maﬂlematiﬂs |Tu rn (O er

I
]
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x | 5 | 6 | 7 | & [ 9 [ 10 ] 1
| 6 | 4
i 5 8 9 12 6 )
Find the mean of the following frequency distributi{_m. |

x | 5 | 6 | 7 [ 8 | 9 | 10/ 1l

f 5 | 8 9 | 12 6 6 | 4

AU4A1/OR

afe i Seq w1918 78, @ PRI 9 F1d i |

X
f

2

—

5

P

|

5

4

9
-

.

10

3

[f mean of the following distribution is 7, then find the value of P.

7
X

2

b

Ps

F

9

10

f

]

5

4

7

——

3

3]

3]

Evus -
SECTION-D
(Fraemeass 997)

(Essay Type Questions)

18 g1 GEAI3T & Tl ol A= 180 B | B WA &1 a1 TS FEAT I 1S A R
EH] FEIN FTq i | [4]

The difference of squares of two numbers i1s [80. The square of the smaller
number is eight times the larger number. Find both the numbers.

HYar/OR

1'511

<l ShUTTA YATeHS qUiieh FTd Hifoe, s &l &1 am 365 81 | (4]

Find two consccutive positive integers, whose sum of squares is 363,
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|+sin® 1-sin
Prove that

] + |
|+sin@ |-sin®

= 25e029

= 25&{:29 :

Fuar/OR

frg Hifsre

sinZ6cose + cos>0 + tand sind = sech

Prove that

sin26cosd + cos>0 + tand sind = sech.

e IO S T 9188 T1d shifae |

}0/

4]

4]

4]

i 717 | 17-27 | 27-37 [ 37-47 | 47-57 | 5767
| | 22 18 20 | 12 15 13
Find the median of the following frequency distribution. | )
Class 717 | 17-27 [ 27-37 [ 37-47 | 47-57 | 57-6]7
Freq_ﬁency 22 18 | 20 12 15 | 13 |

Jear/OR
i STl S 1 SgSh 1 I | 4]
@ | 2-11 [ 11-20[20-29 | 29-38 | 3847 |
| e 15 16 17 12 1
15 | 16 | - <
Find the mode of the following frequency dislribuliun.ﬁ_
S e ] 2-11 ] 11-20 [ 20-29 [ 29-38 [ 38 - 47
"Frequency| 15 16 17 12 T
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